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Which among the following (Provision — Part of
the Constitution) is not correctly matched?

(@) The Union Territories — Part VI

(b) The Scheduled and Tribal Areas — Part X

(€) Tribunals — Part XI

(d) Official Language — Part XVII

Match list-l with list-Il and select the correct
answer using the code given below the lists :
List - |
(A) Article — 324
(B) Article — 315
(C) Article — 280
(D) Article — 338
List- 1l
(1) National Commission for Schedule Castes
(2) Finance Commission
(3) Public Service Commission
(4) Election Commission
Code -
(a) A-(3), B-(2), C-(4), D-(1)
(b) A-(4), B-(3), C-(2), D-(1)
(c) A-(3), B-(2), C-(1), D-(4)
(d) A-(1), B-(3), C-(4), D-(2)
Consider the following events and arrange these
in correct chronological order starting from the
earliest to the last activity —
(1) Appointment of the Drafting Committee
(1) Indian Constitution was adopted and enacted
(1ll) Date of commencement of Indian
Constitution
(V) Constitution Assembly first met
Select the correct answer from the code given

below —

Code -

@ i, u,1,1v (®) 1v, 1, 1, 1
© 1,1, 1v, m @ 1v, 1,1, 1m

frafoafea & & a9 a1 (s — wfuE &1
AT), el gHfera w8 87
(a) ST ST &= — AT VI :
(b) Srfad 3R SIwfer & — | X
(c) SFforRr — AT XI
(d) RTSTHTST — 9T XVII
| BT G-Il ¥ GAfera aiforg qur gt
I AT T He § W ITR B gAY —
i — |
(A) 3TFT — 324
(B) 3T — 315
(C) 3rF=] — 280
(D) 3G — 338
T —
(1) I ST AT SHERT
(2) fo7 amamr
(3) 1P AT MART
(4) Fata=r SmamT
Te —
(@) A-(3), B-(2), C-(4), D-(1)
(b) A-(4), B-(3), C-(2), D-(1)
(e) A-(3), B-(2), C-(1), D-(4)
(d) A-(1), B-(3), C-(4), D-(2)
fr=faRaa gearl W faar IR qor s |d
BIATGHH 7 TART BIOIY, I T8l A AhY
MR Tfafafey de —
(1) yrey wfafa o1 Ay
(1) 9= |l @1 sifigpa 3R R
fam
(1) ¥l wfder & g 8 @ fafy
(IV) Sf9em= |41 &1 92/ doa

I AT 1Y e | I SR b1 AT P —
@ — :

@, n, 1, 1v () 1v, 1, m, n

© 1,11, 1v, i J ('_(d) IV, 1, 11, 1l
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Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) -
Assertion (A) — The President can recommend to
the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) — It is not mandatory for the President
to accept the proposal of the
concerned State Legislature.
Select the correct answer using the code given
below -
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is:not correct
explanation of (A)
() (A)is true but (R) is false
(d) (A)is false but (R) is true
With reference of the election of the Vice —
_ President of India, which is declared void by the
Supreme Court of India, which of the following
statement/s is/are correct?
(1) The acts done by him as Vice — President
before such declaration are considered valid.
(2) The acts done by him as Vice — President on
the day of such declaration are not considered
valid.
Select the correct answer from the code glven
below -
Code -
(a) Only 1 (b) Only 2
(c) Both1and 2 (d) Neither 1 nor 2
Who among the following is the first women
Speaker in Lok Sabha?
(@) Pratibha Patil (b) Urmila Singh
(¢) Meira Kumar (d) Sushma Swaraj

Which one of the following pairs (Schedule -

Subjects) is not correctly matched? '

(@) Third Schedule - Forms of Oaths or
Affirmations

(b) Eight Schedule — Languages

(¢) Ninth Schedule — Allocation of seats in the
Council of States

(d) Tenth Schedule - Provisions as to
disqualification on ground of defection

I <1 o §, RH 9 ta @ sifveue (A) iR

TEX Bl BRI (R) HET TAT & —
P (A) — et =g &1 AT gged B
fRyprRer wgufay g @1 <dr &

IR THD forw <rgufad wefea
I b fQurEsd gRT S9
AT R fdaR e @™ eEy

P HIR U PR £ |
PR (R) — Icufa &7 99 oy fAumssa &1
UNITg AT Afard €
A 37 Y FHe 9 FEl SR BT gAY —

a) (A) 3R (R) T W & 3R (R), (A) DT W=
ARAT PBRAT &

b) (A) 3R (R) THI ¥ & =g (R), (A) BT W&
AT TE BT ©

c) (A) ¥ ® fb=g (R) e @

(d) (A) T = fg (R) 9T 2

ARd & SWrgdfa &1 fFaEE, (™ ga=

ITE g g Afd fhar a8, & wed 9,

=1 § & ®IF a1/9 BUF e 2 /80

(1) STRTSEUfY & HY # 39 ISR P WO A YA
9 gRT fhy v BRI 7 B €|

(2) SIRIEUT & ©T H 39 YHR I 999N 84
& fad7 Swa grT fdy U SrRifAfe 7 @
B B |

i QU 1T He | FE SR BT TG DINY —
-

@daa1 (b) Bt 2

¢) T 1 TRI 2 (d) 5 @r 141 & 2
ATHTAT P YUH Afeenm Wi} = § | B 82
a) gfor wifes (b) Sfiferm R

¢) #RT HAR (d) AT RS

1 gl | | e g (AR @ SR

— fawz) W gafera & 87

(a) el SrREEY — Ty a1 ufisE & 9eu

(beﬂaﬂaaﬁfﬂ Y

(c) It SITHAT — TSTHHT H W BT e

(d) gudl g — T URAdT & MR W
freat
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8. The Constitution of India initially permitted the 8  WRAd™ Hfaw 7 yRy # fbw @y & fow Wi
use of English language for all official purposes RPN Iegdi B UG 9191 & IGIRT & forg
for a period of - AT UG @l ofi?

(a) 5 years (b) 10 years (a) 599 (b) 10 9%
(c) 15 years (d) 20 years (c) 1599 (d) 2099

9.  Given below are two statements, one is labelled 9 ¥ 31 BT ¥ Rrad ¥ @ anfl'&?eFf (A)

as Assertion (A) and other as Reason (R) — aiR @-}{ BT BROT (R) HeT 74T & —
Assertion (A) ;EII?:er::'dent is a part of the aifter (A) — TN 'HTfr 8
Reason (R) — A bill passed by the two Houses of FRY (R) — W B I WAl GRT IR v
the Parliament cannot become a RTEUfey 1 eHfc @ a1 B el
law without the assent of the ¥ FHaT &
President. 4 v T TT B IR TS TE IR
Select the correct answer using the code given
below - g e
(a) Both (A) and (R) are true but (R) is not correct (a) (A) 3R (R) T W € fg (R), (A) B wL
explanation of (A) T TE HYT §
(b) Both (A) and (R) are true and (R) is correct (b) (A) SR (R) &FT W@ € 3R (R), (A) @1 @&l
explanation of (A) TEAT BT &
(¢) (A) is true but (R) is false (©) (A) & & fdg (R) Tert &
(d) (A) is false but (R) is true (d) (A) Trera & b=y (R) &ew ©

10. With reference to Union Finance Commission, 10- & fax amamm & wed # fr=foRed & @
which of the following statement/s is/are PITAT /F BT Hol & /87
cartecks (1) e ST % To oz o B wew B ¥
(1) Finance Commission has a Chairman and six (2) T8 ST SRYE DRy ST @Y SR el

members. 8
(2) It submits its report to the NITI Aayog.
Select the correct answer using the code given i e b ST T
below — VT —
Code - SR
(@) only 2 (b) Both 1 and 2 (@) daat 2 (b) 17d 2 I
(c) Only1 (d) Neither 1 nor 2 (c) Paat 1 (d) 5 < 147 & 2
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Consider the following statements concerning
the powers of the Supreme Court to issue certain
writs to stop violation of Fundamental Rights —
(1) The Supreme Court has power to issue writs
like Habeas Corpus, Mandamus, Prohibition,
-Quo Warranto and Certiorari which is
appropriate for the enforcement of
Fundamental Rights.

(2) Parliament may by law empower any other
court to exercise within its jurisdiction the
powers given to Supreme Court.

Which of the above mentioned

statement/statements is/are correct?-

Select the correct answer from the code given

o ‘m

- AR SETH ST aﬁﬁ%ﬁaﬁiﬁm?ﬁw

e @ forg Re o) o @ e @& ey H

<1 $d fag Ty 87

(1) STaaH R BT I8 Ufdd uew & {6 98
¥ goueeRyr, wHERY, Ui, SiffrerR —
g1 AR SAwer Re, S A 4o AfSieRT @
AN PR @ forg wfe @, S9 Re &1 gam
B Hpal © |

(2) ©¥E BT AWER & 6 98 S &1 B el
AN ITAT DI U JMOFINRG R
Hramelil & Widv Seadd ey 3 4 T8 39
SIfdRTal T WANT BR G © |

ST HUAI § HIFET/ W SR Fal & /7?

o Ry W g § 4 W SR B TIA

below — I —
Code - He —
(a) Both 1 and 2 (b) Only 1 (@) 13k 2eMT b) ®aa 1
(c) Only 2 (d) Neither 1 nor 2 () Baet 2 d) @ 147 & 2
12. With reference to the Attorney General of India, 12 HRd & eI & WaH ¥, fer=forfad sl
which of the following statement/s is/are § Y B A/ 9 2/ :
GorectE . i 2 (1) FEIEEE & Ue W Y@ afe @ gl
(1) A person is appointed as Attorney General, R o fh i A
who is qualified to be appointed as a Judge of ¢
the Supreme Court. f 'gaﬂ B @ fory aifed |
(2) The Attorney General can be removed (2) HETTHETEY P 9P U W I uHAT A
through the same process as the Judges of TN o 9Hhdl & oY 6 Swaaq e &
the Supreme Court. J <Iraefren Bl | :
E‘;ellect the correct answer from the code given A Ry T aE J T SR @1 99T AT —
elow -
Code - RE—
(a) Only 1 (b) Only 2 (a) $‘c|a 1 b) Bad 2
(c) Both1and 2 (d) Neither 1 nor 2 (¢) T 17T 2 () 7 dF 1977 & 2
13. With reference to the composition of the 13- WRd & U@ ¥od ¥ fau uRye & e & weH
Legislative Council in a state of India, which of the ¥ o A B/ FUF 9h B /87
following statement/s is/are correct? ﬁ' S ] R
(1) In the Legislative Council there may not be (1) 7> ' ¥ 99 e !l
more than one-third members of the total @l R |l D U fass 4 e waw
membership of the Legislative Assembly of 81 & 9ad = |
that state. : 3
- , FH ATeid
(2) The Legislative Council of a state must have at ()39 I 1 et oRws F $H
least forty members in it. W T € B AR |
Select the correct answer from the code given W= feu v @ ¥ 98 SOR BT 999 Bifow —
D %€ -
ode -
(a) Only 1 (6) Only 2 (8) Pae 1 b) Bae 2
(c) Both1land 2 (d) Neither 1 nor 2 (©) ST 17 2 d) T a1 1+ & 2
[1-1-23] 153101 Page 5 of 32
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4. with reference to the representation of Uttar 14 ¥Hg # SR We¥ @ Ufafafdea & wed #
Pradesh in Parliament, which of the following fer=forRaa seEl § | P wa) & /&2
statement/s is/are correct? . (1) T T B 0 SR TR B 31 s
(1) Uttar Pradesh has 31 seats allotted for Rajya _

Sabha. gl

(2) 80 members of Lok Sabha are elected from (2) AT & 80 W TR oW W fAaifE
Uttar Pradesh. Y §

Select the correct answer using the code given 1 BT MU BE W wd 9w gﬁ? 22

below — i

Code - e

(a) Only 1 (b) Only 2 _ (a) Bael 1 (b) et 2

(c) Both 1and 2 (d) Neither 1 nor 2 ‘ (c) =Y 1 a2 2 daIdariarar2

15. With reference to the post’s in Secretariate of the 15 W¥g @ Wfarera & uel @& Hed & iy 4 @
Parliament, which of the following statement/s BT/ BIT GE & /&7
i(s;/)arz correct? t : ! (1) §98 & T W @ aRa & fru

ommon posts may be created for the :
Secretariate of each House of Parliament. wfefer gat o W feam i et 2 |

(2) The Parliament has right to regulate the (2) e B U A ff wew @ GRmEme
service conditions of Secretariate staff of W% @ A9 @l b7 Afafd e @
either House of it. PR BT 2|

zzllzc\; ihe correct answer from the code given S o o ¥ T SR I T BT —

Code - B —

(a) Only 1 (b) Only 2 (@) Baer 1 (b) Baat 2

(c) Both1and 2 (d) Neither 1 nor 2 (c) T 1 e 2 (d) 5 @1 197 & 2

16. Which of the following statements is not true 6. f=ifiRad ST # & T Tr & Gaer & Pl
regarding ‘Gram Sabha’? wg T8l 8?

(a) It has the powers and functions at the village (@) sH® R R wfada 9M 'R W) I THR
level, like state Legislature has at the state 2 oY Wog aRRIIfUeT & WY WX 9Y '
level. = ‘

(b) Its powers are determined by the Central (b) g wfdqai &1 FuReT =g TR &
Government. ERT BT 8

(©) It is a Village Assembly consisting of all (c) I8 TP UM WR P 991 &, o vamg @
registered voters in the area of Panchayat. &3 & W USiipd Aaarar |fHferd el & |

(d) (a) and (c) both (d) (a) oI (c) QT

17 All elections to the Panchayats are conducted 17- Yamacl & GH% gATal BT FaTer T Ham & —

b 24 2

(a‘; State Legislature (D) State Election (@) ¥roa SRyt (b}, el ST

Commission (c) WRd &1 FAafawr  (d) Y=l <1 ST

(€) Election Commission (d) Panchayati Raj ATTART
of India Commission

[A-1-23] 153101 Page 6 of 32
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18. With reference to the recommendations of the 18- TaTael Iral WX aieia Wear Wify ufddes (1977)
Ashok Mehta Committee (1977) on Panchayati el TE REReE @ el 3§ fPr=fRag suE
Raj, which of the following statement/s is/are : - :
kel - = Bl R R VAT
(1) The three tier system of Panchayati Raj should (1) TaRh IS @ AT G FERRI © R W)
be replaced by the two tier system. fewadg oaven BHl =ifev |
(2) A block should be the first point for £
decentralization under popular supervision (2) wR P A : %Tj @l
below the state level. fa@=ixor &1 ver fdg @ i =nfey |
Select the correct answer using the code given W T U He | el SR BT g4I P —
below — e
Code - &
(a) Only 1 (b) Only 2 (@) Bad 1 (b) Haet 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) T 1T 2 (d) 7 qr 197 & 2
19. The resignation letter by a Judge of Supreme 19 Wdled G & TH R &1 AN—TH
Court is addressed to - HafST B ' —
(@) The Chief Justice of (b) The senior most (a) R & A (b) Tat= <arTerT &
India Judge of Supreme e @Y afvea s &
Court . ”
() The President (d) The Prime Minister (©) <rzufer bt (@) bl
20. Which of the following is not a part of the 20. fifafad # & @9 wRdE wRwE @
Article 20 of the Constitution of India? BT 20 BT v TE 2?
(a) Prohibition against (b) Double Jeopardy (@) w4 o R aEfibd) SR TvE B uRT
Self Incrimination Clause S Py
(c) Prohibition Against (d) Ex-post Facto Law-
)l g " () A B fareg e () s R
21. Which of the following Provision is a part of both = 21. fa=ifeRad # & ®=ar wraer= ifa e q
Directive Prmmples of State Policy and o e Eﬁ-f&‘ﬁ S BT T AT 7
Fundamental Duties?
(@) Guardians to provide opportunity for (@) srfTae Teal &1 Brm & [EEx Rkaa
ducation to child :
educa |.on o chi 'ren (o) o
(b) Protection of environment
(c) Participation of workers in management of (c) SERTT & UeH H BHBRI BT 9RT oAl
industries ' ;
d) ¥HME AFTRG HiEdr
(d) Uniform Civil Code @ :
22. \With reference to the joint sitting of Parliament, 22 WIS @ Wga d8@ @ wad ¥, Frafaiaa wemi
which statement/s is/are correct? H ¥ ST/ BT FEl B /E?
(1) Article 109 provides for the joint sitting of (1) B B <RI H HHE DI ST el B
both Houses in certain cases. w YoF FT UG B 2
(2) The Speaker presnt::les the joint sitting of the 2) ST e < Sow & aeTear WHR
two Houses of Parliament.
Select the correct answer using the code given el :
below — W Ry U gHe # & wE SR g —
Code - R —
(@) only 1 (b) Only 2 (@) daa 1 (b) g 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) ]FT 1T 2 (d) 7 ar 147 &1 2
[A-1-23] 153101 Page 7 of 32
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23. With reference to the invaders in ancient India, 23 UM @I & YR U SMHAU B HEy WA,
which one of the following is the correct frfaRa § & PN a1 @ 98 BT 27
chronological order? -

(@) Greeks — Sakas — Kushans (a) A — =B — FET
(b) Greeks — Kushans — Sakas (b) AT — FHOT — 27D
(c) Sakas — Greeks — Kushans (¢) oI% — L
(d) Sakas — Kushans — Greeks (d) 2 — FHuTT — T‘Fﬁ

24. ‘Milind Panho’ is in the form of a dialogue 24 ‘fiferg w=1 won Rt @on & dtg fag @
between King Milind and Buddhist Saint. The T Hare w9 H 2| 98 ﬁ.{ai o —
concerned saint was -

(@) Nagarjun (b) Nagbhatt (a) TS (b) FrTHE
(c) Nagasena (d) Kumaril Bhatt g (¢) TR () gATR #g

25. Charak Samhita is divided into how manwi 25. =RS WHedr fhaw seaml SRk Eef # fawiforg 82
chapters and sections? (a :

(a) 120 chaptersand  (b) 100 chapters and & (8) 1203 3R 8 Ws(b) 100 3T IR 5 G
8 sections 5 sections :

(c) 80 chaptersand  (d) 60 chapters and () 80 sEAT 3R 7 WS (d) 60 AT SR 8 T
7 sections 8 sections

26. Which officer was known as ‘Bhagadugha’ during . 26. g BIei RN H 9GS’ BIF SARBRY ofr?
Vedic administration? %% (a) TR ‘@ﬂﬁ arer (b) ST BT GET
(8) Messenger (b) Chief Officer of :E

Forests E od SICEaN
() Chief Officer of the (d) Revenue Collector (c) = AT B1 e (d) oG IR WA B
Gambling
Department - eI g L

27. Match list-l with list-l and choose the correct, 27- JHi—I S {EI-II ¥ Ffera HRT 721 9= Ry

answer using the code given below the lists — c‘% TV e | el SR gy —
List -1 List -1l L -1 Tl
(Archaeological site)  (Present location) < (qRTaTfcas wore) (aetw ®IT)
(A) Nevasa (1) Rajasthan (A) SarT (1) oI
(B) Isampur (2) Tamil Nadu (B) 'é‘ﬂ'qg'\' (2) ﬂﬁ?ﬁr@
(C) Didwana (3) Maharashtra (C) SrsarT (3) TERTS:
(D) Gudiyam cave (4) Karnataka 3 (D) Tfeam™ T (4) BelcH
Code - v e —
(@) A-(3), B-(4), C-(1), D-(2) ! (a) A-(3), B-(4), C-(1), D-(2)
b) A-(4), B-(3), C-(1), D-(2) & b) A-(4), B-(3), C-(1), D-(2)
¢) A-(3), B-(4), C-(2), D-(1) (©) A-(3), B-(4), C-(2), D-(1)
(d) A-(3), B-(2), C-(4), D-(1) d) A-(3), B-(2), C-(4), D-(1)

28. Eastern boundary of the Harappa culture is 28 fm=ifoiRad # & &1 sswr Wl & qdi
indicated by which of the following? @7 FIiRoT Hear 2?2
(a) Harappa (b) Alamgirpur (a) ggmr (b) STTeTHIRYR
(c) Rakhigarhi (d) Manda (¢) IRERTST (d) HTUST

s S 000 OO



29.

30.

31.

32.

33.

With reference to the Puranas, which one of the

following statements is correct?

(1) Information about the Mauryan dynasty is
found in the Vishnu Puran. -

(2) Vayu Puran throws light on the Gupta’s
governance system.

(@) Only 1

(c) Both1and 2

(b) Only 2
(d) Neither 1 nor 2

(gVadslaly

Which of the following pairs (School of Thought =5 430,

Proponent) is correctly matched?
(a) Vaisheshika — (b) Mimansa — Kanada
Patanjali

(c) Nyaya—Gautama (d) Uttara Mimansa —

cCi

Kapila €
With reference to the Captain Hawking’s, which, | 31-
of the following statements is correct? &
(1) He came to India in 1611 as an envoy of ¥
James — 1.
(2) He was very well versed in Turkish language.
(@) Only 1 (b) Only 2

(¢) Both 1 and 2 (d) Neither 1 nor 2

Who was ‘Khareetadar’?
(8) Despatcher of royal (b) Main custodian of i

decrees royal palace g :
() Chief Officer of (d) An officer whowas -
Pargana trained in keeping

accounts

Match list-l with list-Il and select the correct 33

answer using the code given below the lists — S

List - | Vi
Book e
(A) Mirat-e-Sikandari -

(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-Insha
List — I
Context
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan'’s letters
(4) Victory of Gujarat
Code - :
(@) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(c) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

C
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29.

RO B wed H, Frfaiad werEt # F B

| 87

(1) ey IO & A g @ TEERN) A €

(2) 9T GRIVT W G2 DI AT IR TR T
STer 2 |

(a) Baet 1 (b) Haa 2

(c) QT 17T .2 (d) 5 o7 197 & 2

f=folRad & | @9 91 g9 (ST — UERD)
|eEl gAfera 87

(a) Rf¥HT — Teisifer  (b) HHET — HUG (F779)
(c) =g — A (d) TR AHRT — DU
B effe & wed ¥ fFfafad weml 4 @
B9 G HE 87 |
(1) 98 1611 % o= —| & §d @ ©U § ¥Rd

IR |
(2) 98 T ATST BT I8 ATVT ST T |

(@) ®aa 1 (b) ®aat 2
(c) SMT 1T 2 (d) s ar 197 & 2
TRIAIER’ B 17 '
(a) BREHET BT Ao (b) IMEMEA Bl U
EISIRICEaR RETDH
() uaT BT v (d) SAferr i
AHAY fee—faame #
TdioT B e
-1 B G-Il § gAfem HTg e feri
& - fRU U de ¥ 98l SR giHv —
A — |
ERSED
(A) FPRTa—u—Fs=d
(B) gREH—U—HITRR
(c) Rars—sa—wafas
(D) Rars—Se—gam
g —
o
(1) §°TTd BT SfE™
(2) IBHT B IBAGTR BT i
(3) HEHE Al ® TAI BT U
(4) TorRTd fgora
‘R_

(a) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(c) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C~(3), D-(1)
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34.

35.

36.

37.

38.

39.

40.

Which of the following is not correctly matched?
(a) litutmish — Father of Razia

(b) Shah Turkan — Wife of Iltutmish

(¢) Hamida Banu Begum — Wife of Allaudin Khilji
(d) Gulbadan Begum — Daughter of Babur
Consider the reign of following Peshwas and
arrange them in chronological order —

(1) Balaji Viswanath

(1) Bajirao |

(I11) Narayan Rao

(IV) Madhav Rao |

Select the correct answer using the code given
below — :

Code -
@) 1,1, v (®) 1,1, 1, Iv
© n,1,1v,m @1, n,1v,m

Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

(@) Shamsuddin Shah  (b) Sikandar Shah

() Zain-ul-Abidin (d) Haider Shah

Who among the following translated 300
volumes of Sanskrit books collected by Firoz
Tuglag during the campaign of Nagarkot?

(@) Azizuddin Khan (b) Talib Amuli
(¢) Mulla Abdul Bagi  (d) Mirza Muhammad
Ali

Tappa style of music was refined and developed
in which of the following Mughal Emperor’s
Court?

(@) Akbar (b) Jahangir

() Shahjahan (d) Muhammad Shah

Which of the following (Poetess — Compositions)
is not correctly matched?

(a) Daya Bai—Vinay  (b) Sahajobai — Sahaj
Malika Prakash
. (¢) Gangabai— Ganesh (d) Son Kumari - Poem
Dev Leela of Swarn Beli

Which one of the following (Place of the revolt of
1857 — Start of rebellion) is not correctly
matched?

(@) Barrack — 29 March, (b) Meerut — 10 May,

1857 1857
(©) Lucknow -4 June, (d) Jhansi— 11 May,
1857 1857

34.

35.

36.

38.

39.

40.

frafaRead & & a9 w1 w8 gafoa =8 22
(@) geqafier — =omr & fiar

(b) B8 BT — FoqareT @1 g

(c) et a1 T — TS Raeeh @ ueh
(

(=X

T ST BITHANAR AdRef BT —
(1) grerroir fawasmer

(1) IISIRTE |

(1) AR 19

(IV) 5TErg ¥19 |

e AT MU e | wE IR g —
az‘_(:_...

(@ 1,m, 1, v () 1, 11, 1, 1Iv
(©) 1,1, 1v, 1 @ 1,1, 1v,
F=ifaRad # | a9k @ fbyg smas 3 S
AR 7T BT DI FHIE fHar?

(a) IrgEr wE b) fpax e
(c) Sger eI (d) &= wmE

- fr=foRed § @ 19 fR9 g & TiRee

A & SRM WU 300 W¥pd Ywd B

rgare faar?
(@) srfispeE @M b) TIfera srgel

(¢) oo 3reget a1l (d) et IS arelt
i o1 ewr e ffaian & & 5w g

I $ TRAR H uRepa vd R g6?

(a) 3rehax (b) STEIfR

(c) TmETEl (d) 78™1g e
ffRaa 4 4 a9 (@aE - gwe) w@
gAferd &t &7

a)amar% T b)ﬂ%ﬁhfﬂs‘—w
(c)nTrrmé O 39 d)ﬂ’mfﬁmﬂ wof

30 B B

ﬁwﬁf@aﬁﬁaﬁaw(ww%ﬁaﬂgaﬁw
— fasE &1 o) W€ Al T8 22 |
(@) %R — 2991,  (b) ;S — 10 7S, 1857
1857

€ @@ — 45H,  (d) 3 — 115, 1857
1857

[A-1-23] 153101
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1

41. |n 1918, the United Provinces Kisan Sabha was 41 1918 @ wgad Wid &M &1 &1 e+ =
formed by which of the following leaders? g fr war 7 famam ar?
(a) Baba Ramchandra (b) Indra Narayan (a) 9reT IHTS A (b) §g AR fgaady 7
Dwivedi (c) WA WEu= (d) . SR ol A
(¢) Swami Sahjanand  (d) Pt. Jawaharlal Nehru el L 3
Saraswati
42 \Which among the following organisations was 42 FifiRaa # & B=aT |7e faweh § a=RE
responsible for throwing a bomb at Viceroy Lord e BT IR 99 B & forw SoRerY on?
Hardinge in Delhi? a R b ﬂ’fl'&%@ s
(a) All India Labour (b) United Patriotic 2 m&l??f ek .
Association Association :
() Anushilan Samiti  (d) Yugantar (c) srgeirer Wit '(d) STHaT
43. By which of the following Acts, the system of = 43. fa=ifaRaa # & frw affm gri, 120 Hawi
‘Chamber of Princes’ with 120 members was qrel ‘TR 3ifE B @1 e &Y T8 off?
s e wﬁ <l Skt 'Eﬁ'iﬁ' &
arter Act o cto
(c) Actof 1909 (d) Act of 1919 (¢) 190977 (d) ISP
44. With reference to the E.V. Ramaswami Nayakar, 44 41 YFRam™l ARaR & |ev ¥, FrefaRad o
which of the following statement/s is/are H 3 P/ GE B/
correct? - ; = :
(1) He participated in the Non — Cooperation (1)@# B # few fera
Movamment. (2) SBM 1925 # HIUH BiS < |
(2) He left the congress in 1925. 0 Ry W e & W P W SR
Select the correct answer using the code given ﬂﬁq Bl
below — Fe —
Code - &
(@) Only 1 (b) Only 2 () Faet 1 (b) Baet 2
(c) Both1and?2 (d) Neither 1 nor 2 (¢) T 1T 2 (d) 5 o 177 & 2
45. \What was the name of the female Regiment 45. <aToil goI¥ = 419 ERT I fo @IS &
constituted as a part of the Azad Hind Fauj‘ by = @ wu # wfeq afger We o1 |1 M
Netaji Subhash Chandra Bose? ‘ of7? ‘
(a) Rani Bhabani (b) Rani Jhansi (a) T e e (b) < s Wk
Regiment Regiment
(c) Bharat Mata (d) Veerangana (c) R Hrar Mowe  (d) IRiTEn e
Regiment Regiment
46. Who was the leader of rebellion in Bareilly, Uttar  46- 1857 ¥ aXell, STR 9ol & shifa &7 =il DI A7
“Pradesh during 18577 (a) ToTed HEer (b) W qETGY @
(a) Hazarat Mahal (b) Khan Bahadur Khan O
() Kunwar Singh (d) Nana Saheb ) R e (d) =TT il
47. Which of the following events was the last in 47- Hrospd @1 gfe A Frafafeaa weami & @
chronological order? BT sifaw off?
(@) Home Rule (b) Khilafat Movement (@) B9 wa aiereE  (b) Raced anicre
S (c) wiferararem T (@) e fasE
(c) Jallianwala Bagh (d) Moplah Revolt :
Massacre b Thd
[A-1-23] 153101 Page 11 of 32



48. Who among the following women freedom 48. fa=ifeiRag & & ®9 At Wdzar A=) WRd
fighter was not. associated with ‘Quit India BIET e § Haftg 78} 27
Movement’? Forh =
(a) Matangini Hazra  (b) Aruna Asaf Ali g T lETE . A
() Kanak Lata Barua  (d) Shanti Ghosh (C) B oIl T d) wrifer =y
49. Which one of the following (Tributary — River) is  49- fe=faRad # & &9 &1 (Werws T4 — =) @
not correctly matched? qiq-ﬁﬁ B 87
(a) Manjra - Godavari (b) Hemavathi — Kaveri (a) HoRT — TreTad: (b) 2aradY — BS
(c) m:::;abha— (d) Pranhita — Mahanadi © _ ) e o
90. Which one of the following place is the 50. f=faRed & ¥ f&F9 WM W sEdT=<r v
confluence of the river Alakhnanda and the arfiRef 78 R &7
Bhagirathi? a) ﬁfﬂﬂ o (b) BT T
(@) Vishnu Prayag (b) Karn Prayag
(¢) Rudra Prayag (d) Dev Prayag ’ (©) s TR (@) éﬂ kel
51. Which of the following statements is correct 51. fA=feiRad wemT & ¥ aevEe A & vy f!
about laterite soil? PIF AT BAF FE 27
(1) This soil is developed in areas with high (1) 7E Mg S=a avEe vd W 99t arel &3 §
temperature and heavy rainfall. fa@fa erit 21
(2) It is poor in iron oxide and aluminium. (2) =9 A& A e sifawrss vd vogHitam ﬁ
Select the correct answer using the code given HH IR ST ®
below — ﬁﬁﬁqmaﬁ%ﬂﬁwgﬁv—
Code - e —
(a) Only 1 (b) Only 2 (a) Baat 1 ~ (b) ®aaT 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) ST 1= 2 (d) 5 < 197 & 2
52. ‘Ozone layer’ absorbing ultra - violet radiation 52. TWRT&THT faféor &1 srE@eT F arh NS
exists in which of the atmospheric layer? W fbw argHSey wiR # Rerg 87
(a) Troposphere (b) Mesosphere (a) &n Hsd (b) Her Hee
(0 Stratosphere (d) Thermosphere (c) HHA™ HSd (d) 9" HSol
53. Make the pairs of chief rivers of their place of 53- WRd & yq@ AfeAf T S+ ST el B A
origin — 'eﬁi?zﬁ —
Rivers Place of origin - At I R
(A) Yamuna (1) Sihawa (A) TG (1) Rygmar
(B) Krishna (2) Nasik (B) @@ (2) =
(C) Godavari (3) Mahabaleshwar (C) TeTar (3) HEEITaR
(D) Mahanadi (4) Yamunotri (D) #E™El (4) g
a) A-(4), B-(3), C-(2), D-(1) (a) A-(4), B-(3), C-(2), D-(1)
(b) A-(1), B-(2), C-(3), D-(4) b) A-(1), B-(2), C-(3), D-(4)
c) A-(4), B-(2), C-(1), D-(3) c) A-(4), B-(2), C-(1), D-(3)
d) A-(4), B-(2), C-(3), D-(1) (d) A-(4), B-(2), C-(3), D-(1)
[A-1-23] 153101 Page 12 of 32 *
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54. Given below are two statements, one is labelled 54 R €1 ®oq 2 R te a1 aifdmeE (A) 3R
as Assertion (A) and other is Reason (R) - W @I BRI (R) HET TAT & —
Assertion (A) — The Tamil Nadu coast remains dry :
during South-West monsoon affiper (A) — Sfo-aREH AR AR @
season. ' SR afieArg ¢ Ieh Il ¢ |
Reason (R) - The"TIamiIhNadu c:::ast is Isitt)uateﬁ SR (R) — ARSI T ST A @ P IE
parallel to the Bay of Bengal branc : : :
of South-West monsoon and it lies & FATiR e & o < feror-ufem
in the rain shadow area of the HET B 3RT R georn &5 4§
- Arabian Sea branch of the South- Rerg 21
West monsoon during monsoon :
season. LA TR (e
Select the correct answer using the code given e —
bel:w = (a) (A) | & fg (R) T ©
Code -
(a) (A)is true but (R) is false (®) (A) Teret & ﬁﬁj (R) ¥ &
- (b) (A) is false but (R) is true (c) (A) iR (R) TFT w1<d €, fd (R), (A) B Wl
(c) Both (A) and (R) is true but (R) is not correct GrT el Bl it
exganation gty _ (d) (A) 3R (R) 3T T & @R (R), (A) B @
(d) Both (A) and (R) are true and (R) is correct
explanation of (A) AT el &
55.  Which of the following statement is correct? 55. fp=faRad Sl § 9 B9 1 98 87
(1) Ram Ganga river joins the Ganga at Kannauij. (1) _\’g‘ T T HAS B a0 AL H e
(2) River Betwa joins the Yamuna near Prayagraj. | : !
Select the correct answer using the code given (2) gg:ﬂ T SRR & W1 S T frerd)
belg - A2 R T g & wE SR g -
Code - Fa
(a) Only 1 (b) Only 2 (:) Hael 1 (b) aat 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) B 1 T2 2 d=aarimd 2
56. Chandraprabha Wildlife Sanctuary is situated in 56 F=IH¥T Iwoild FIRVY ST U B fhd WU
which district of Uttar Pradesh? # fRerg &7
(a) Sonbhadra (b) Chandauli (a) A=HS (b) T==Tell
(c) -Baharaich - (d) Lakhimpur Khiri (c) gevIsa (d) TEHYR ER
57. Which one of the following (Passes - States/U.T.) ~ 57- faifoiRaa & & &= a1 t& (=1 — T /B
is correctly matched? wfia ueen) e gaferd 7
(a) Aghil = Arunachal  (b) Diphu — Ladakh (a) arferer — svTEE  (b) A — TEE™E
Pradesh ; o
(c) Niti — Uttarakhand (d) m:SZShHlmachal © iy — : ) i bae
58. Shivanasamudra and Kalpakkam are respectively 58 Rramremgs vd wergad Hawn: e fog sy
important for - {4
(a) Hydel Power and - (b) Thermal Power and (a) oTe1 wifdd wd (b) AT eI Td
Nuclear Energy Nuclear Energy ARSI St TP St
(¢) Nuclear Energy and (d) Solar Power and (c) P St vg (d) ER wfda gd
Hydel Power Nuclear Energy STel 91feT - AP Fodt
[A-1-23] 153101 Page 13 of 32
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99.

60.

61.

62.

63.

with

Consider the following statements

reference to Uttar Pradesh —

(1) Forests constitute about 12.8% of the total
geographical area of the state.

(2) The districts of Jaunpur, Ghazipur and Ballia
have no forest land.

Select the correct answer from the code given

below —

Code -
(@) Only 1 (b) Both 1 and 2
() Only 2 (d) Neither 1 nor 2

Which of the following (Port-Country) is not

correctly matched?

(a) Rotterdam -
Netherland

(¢) Montevideo -
Uruguay

Which of the following statement is true?

(a) Benguela current-is a cold current of the
pacific ocean. :

(b) If the sun, the earth and the moon are in a
straight line then this situation is the situation
of small tide. )

(€) Ocean salinity is maximum at the Tropic of
Cancer and Capricorn.

(b) 1garka — China

(d) Jakarta — Indonesia

(d) Tide comes on the earth every day after

exactly 12 hours 30 minutes.
The river situated along the border between the
United States of America and Mexico is -
(@) The Mississippi (b) The Rio Grande
(¢) The Amazon (d) The Colorado

Consider the following deserts and arrange them
in increasing order of their size (from smallest to
largest) — '

(1) Great Sandy desert

(I) Arabian desert

(1) Sahara desert

(IV) Gobi desert

Select the correct answer using the code given
below -

@1, 1,1v, 1
©) v, 1,1

(b) 1, 1, 1, Iv-
@ 1,1, 1v,

60.

61.

62.

63.

- ‘m

59.

TR oY & HeH # F=feRed dumt w e

I —

(1) Y & Fel ANIfeTd &3 BT THT 12.8%
CER

(2) SiFYR, TR &R aferar et § a1 o
9 T8 7 |

e Ry U He ¥ w9 S ghiw —
az\?'_

(a) Baer 1 (b) T 1 T 2
(c) Paer 2 dFar1-ra2

Prefeed # & BT (FeE—3) @d g
T ¥

(a) JexeH — exeive () Tl — 9

(c) Avedifsar — S (d) TPl — SSHRET

f=faRe § & o9 a1 s 9 27

(a) ST FRIT AENFR &) Uh VI GRT 2 |

(b) e 3d, gedt @ T U e F B o) I8
Rerftr &g waR @1 Rufy 2

(c) AENIRIY WG &P U9 Hbx I@RE] W
STferaH Bl 7 |

(d)qﬁwﬁ%&ﬂé’ﬁmzﬁéaoﬁﬂemm
T 2 |

HYTT Y IFARGT TN HfFd B § A w®
R 7t 8 —

(a) ARy (b) Rar s

(c) sme= (d) PrERS _
ffoRed aml ® far St g o=
TS HAHR B qed HH F AT BHIY (Fad
B ¥ WeW faega @) —

(1) IT JvSr FHRered

(1) 3RfIT= 7owere

(I11) HERT FHRRI

(IV) TET TERere

e T 7T FE & 9E S g —
@ 1, 11, v, (B) 11, 1, 1, IV
(©) 1, 1v, 1, 11 @ 1,1, 1v, m

[A-1-23] 153101
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64. To whom does the credit goes for the
development of coconut and sugarcane
agriculture in Philippines?

(@) French (b) Britishers
(¢) Hollanders (d) Spanish and

3 Americans

65. Match list-| with list-Il and select the correct
answer using the code given below —

List—1 List-1l
(Mountain) (Countries)
(A) Kilimanjaro (1) Morocco
(B) Toubkal (2) Algeria
(C) Stanley (3) Tanzania
(D) Hoggar (4) Uganda
Code -

(a) A-(4), B-(3), C-(2), D-(1)
(b) A-(3), B-(1), C-(4), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(4), B-(2), C-(3), D-(1)
66. Which one of the following (Lake — Country) is not
correctly matched?
(a) Baikal - Russia (b) Michigan — United
State of America
(d) Maracaibo -
Venezuela
67. With reference to the “EL-NINO”, which of the
following statement/s is/are correct?
(1) El = Nino involves appearance of warm
current of the coast of Peru in eastern pacific.
(2) This warm current increase the temperature
of water on the Peruvian coast by 10°C there
by increasing the amount of Plankton in the

(¢) Onega - Canada

sea.

Select the correct answer using the code given
below —

Code -

(@) Only 1 (b) Only 2

(c) Both1and 2 (d) Neither 1 nor 2

68. What caused wind to deflect towards left in
Southern Hemisphere?

(b) Coriolis force

(d) Pressure

(a) Temperature
(c) Magnetic Field

64. fihcliurg= ® RIS Td T 1 PN @b &
o1 faasr iar 82

(a) wrgaTya &r (b) fesrarRt &1
(c) Bfcivsariadi &1 (d) ¥ Tq _
smRararmar &
65. Fei—I 3 A1l & gafera Piorg am JRAl
a1 Ry T Fe | w8 S gAY —
- -l
(eici) (&)
(A) fpeirEeTRY (1) AREDT
(B) qahed (2) sreshifRar
(C) &7l (3) <=
(D) BMR (4) gmieT
a’c\z —

(a) A-(4), B-(3), C-(2), D-(1)
(b) A-(3), B-(1), C-(4), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(4), B-(2), C-(3), D-(1)
66. fep=iforRad § & Pi=wr (3 —<w) W& gafor
8l &7
(@) 9P — B (b) fAsir — wga
I IARET
(d) ARTHIZET —
. ERNC]
67. "=’ B wed ¥, f=foRad deEl ¥ @
DI AT/¥ G B/ 77
(1) 3= ® gdf ueng &9 H U B ¢ W
T RIS BT Ybe BT A 7 |
(2) T8 T4 URT UH B A U UFN P AUHA B

10°C d% 99T <ol 2, ol 9qs d wided

(c) 3T — FHTST

P AET 98 ORI B
Hrr Ry ¢ He | 98 S gAY —
@"_
(a) ®aet 1 (b) Haet 2
(c) ST 1 Td 2 (daFdar1-arsa 2
68. <Rl Mo § gar $1 9rfi IR fAEift EW &
AT HRUT &7
(a) aHE (b) BRI g
() Faarr & (d) zara

[A-1-23] 153101
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69.

70.

71

72.

73.

74.

75.

76.

Which one of the following is the largest coal
producing centre of Ukraine?

(a) Zaporizhzhia (b) Kharkiv

() Donetsk (d) Kyiv

‘Mount Newman’ is famous for which of the
foIIovgg;g minerals?

(@) Irghore (b) Manganese

(c) Cqﬁner (d) Bauxite

How many railways stations have been identified
for modernization under “Amrit Bharat Station
Scheme” in Uttar Pradesh as on February, 20237
(a) 57 (b) 82

(c) 123, (d) 149

Wher% was the “Sudarshan Prahar Army
Exerc@” carried out in December, 2022?

(@) Gijdrat (b) Rajasthan

(¢) Uttar Pradesh (d) Madhya Pradesh

As per Social Progress Index, released in

. December, 2022, which of the following are on

top three positions in very high social progress in

Tier-l%n

(@) Pdntlicherry, (b) Mizoram, Himachal
La!ghadweep and Pradesh and Ladakh
Gaoay

(c) Ke?gla, Nagaland
and Meghalaya ;

The “NISAR satellite” is jointly developed by

which of the following organizations?

(a) 1SRG and NASA (b) ESA and ISRO

(c) ESARand NASA (d) ROSCOSMOS and
0 CNSA

Accor&g to the Union Budget 2023-24, how

many skill India international centres are to be

set up across different states to skill youth for

international opportunities?

(a) 20 (b) 30

(c) 40 (d) 50

Who is the Author of the famous Novel “All the

Lives We Never Lived”, which received the

Sahitya Akademi Award, 2022?

(a) Anita Desai (b) Anuradha Roy

() Shobha De (d) Sudha Murthy

(d) None of the above

69.

70.

7il%

72.

73.

74.

75.

"-78.

1 g T I 9T BRI SUGD By
HIF W 8?
(@) SRS (b) @fha

(©) SFcxD (d) g

Hqreve A fFrefoiad A 9 fow @fer & forg
uRig &7

(2) <iie arvh

(c) iaT , (d) dfeTge

BRad), 2023 T@ SR UL H T WRA I
o1 $ d8d AEFHIHT & forg fhas Yo

(b) FTeiraT

I B 989 B TS 87
(@) 57 (b) 82
(c) 123 (d) 149

fodaR, 2022 # “Y¥F UBR AW AT HEl

far T om?

(@) T[oRIA (b) ITeTeRITH

(c) TR w=T (d) Her weTr

feder, 2022 % S GEfoe Wi gEdie @

IR femR-1 %, Fr=fofad 4 & a9 fy s=

|rTfoTs o # oY i e W) 87

(a) uifE=ar, Fergiy iR (b) fAsve, Reme
Yar Uo¥ 3R ey

~ (0) B, AU SR (d) Sudad # | g

HHTTT e
‘R Suae” fefalaa § 9 &9 dreei ern
Hgad w9 & ol far 82
(a) g&ERY 3R T (b) TTHY. 3R FERT
(c) Svau R T (d) IpEEE iR AL

UG,

DI qUIC 2023-24 B R, ARSI JawR]
@ forq gamll &1 $iee yeH o+ @ fou A
) H fhas P IRT RIS B wWifda
fahg e
(@) 20 (b) 30
(c) 40 (d) 50
A PIEAT REDPR, 2022 YT B Tl
g SUE 3l § osed ) Aaw e @
AEH DI 2
(a) 3T <ETS
(c) o™ T ©

(b) 3rgRTEN 31T
(d) g Afef

[A-1-23] 153101
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77. With reference to mineral resources, which of 77- WS T=ET @ W<y ¥, Fr=faRed doEl 4 4

the following statement/s is/are correct? B9 AT/ e 8 /87
1. Lithium’s inferred resources have been found 1. PR 3 Radt forar o fPraw &
in Reasi district of Jammu & Kashmir. o SR AT USR gy &)
s o s a0 ey 37 o w0 e, e
: GRE O PHEce @ fog | W R 21
Select the correct answer using the code given™ :
Corrd i 0 iR ™ T | | SR giHg -
Code - A
(@) Only 1 (b) Only 2 (a) ®ae 1 (b) @aet 2
(c) Both 1and 2 (d) Neither 1 nor 2 () T 1 3R 2 (d) 5 & 17 & 2
78. In February, 2023 India’s biggest helicopter 78- Radl, 2023 # YRA B HaW TS Fellbiex AT
manufacturing plant was inaugurated in which HaH @1 SguTed fEfaRed § 9 fha I )
one of the following places? o B3I 17
(a) Chakeri, Uttar (b) Tumkuru, Karnataka {5 (@) TP, STR yowr  (b) THER, Biicd
Pradesh ‘ &
(c) Coimbatore, Tamil (d) Nasik, Maharashtra * () PRIER, dffemrg  (d) TR, HERTS
Nadu
79. Who composed the Golden Globe Award winning ~ 7°- Teed Told qWHR faoiar Aa A A b
song “Naatu Naatu”? JITHR & — 3
(a) S.S. Rajamouli (b) M.M. Keeravani (a) TH.UEISTHEIC (b) TH.UH.BRIEA!
(c) DeviSriPrasad  (d) AR. Rehman D (o) e (d) TR, XA
80. The Indian Biological Data Centre is being set up% 80. WA Sifde seT b fba wog H wenfid fean
in which state? 8 T V&7 27
(a) Haryana (b) Punjab e (a) sfkarom (b) UTTE
(¢) Uttar Pradesh (d) Guijarat () TR U (d) ToRTA :
81. With reference to India’s G-20 Logo, which of the 81 ¥Rd & G-20 & fore & W= ¥, =g
following statement/s is/are correct? FE H W B G/ T B /8
1. The logo has lotus with seven petals. 3 1. ydfe fore # A gt aren FEd © |
2. The seven petals of the logo represent seveni ) 2.y e @\ ugfedt W werEidl o
continents. & wfeffera &l 2|
Select the correct answer using the code given™ =i fRd T3 @E &1 YA &R &l ST HT FIT
below — Hiforg —
Code - ag\_d LR
(a) Only 1 (b) Only 2 (a) B 1 (b) Haa 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) €M1 Tg 2 (d)Fdr 1978 2
82. Which of the following Scorpene Class 82 fwifdiRad # & fbw wpid Al H wrged ol
Submarines was commissioned into Indian Navy S, 2023 ¥ YR AT 3 wrfRer fopar e
in January, 20237
(a) INS Vela (b) INS Vagir (@) SEGATE A (0) JILTATH, AR
() INS Kalvari (d) INS Karanj (©) FTETATH FAa) (d) T TATH. HXA

TEEGTETR i T




83.

84.

85.

86.

87.

88.

.(¢) Tara Airline

In December, 2022 New Zealand passed the
world’s first Law to ban smoking for next
generation. New Zealand’s goal is to be “smoke-

free” by.............
(a) 2024 (b) 2025
(c) 2029 (d) 2030

Plane of which Airline crashed in Nepal in
January, 20237
(@) Nepal Airline (b) Buddha Airline

(d) Yeti Airline

Who among the following has authored the book-

“Spare”?
(@) Prince Harry (b) Prince Williams
(€) Prince Phillip (d) King Charles

With reference to the Pope Benedict XVI, who
died recently, which of the following statement/s
is/are correct?

1. He was a native of Germany.

2. He was the first Pope to resign in 600 years.

Select the correct answer using the code given

below —

Code -

(a) Only 1 (b) Only 2

(c) Both 1and 2 (d) Neither 1 nor 2

With reference to the SCO Film Festival-2023,

which of the following statement/s is/are

correct?

1. The SCO Film Festival is being held during
India’s  Presidency of the Shanghai
Cooperation Organisation.

2. SCO Film Festival will showcase the films from
the SCO countries.

Select the correct answer using the code given

below —

Code -

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

Who among the following has been named as the

Prime Minister of New Zealand in January, 2023?

(a) Jacinda Ardern (b) Chris Hipkins

(¢) Cindy Kiro (d) carmel Sepuloni

85.

86.

87.

88.

- feamRr, 2022 9 =ficis A eFTell @1 @ form
EEU IR e oI 9T 399 &1 ggen ard

uiRe fhar| gofiels &1 A& GEZ
gHI o B 2 |

(@) 2024 (b) 2025

(c) 2029 (d) 2030

SaR), 2023 ¥ 59 wEResT &1 f9AE [Aure

GHCARING gar?

(@) AUt QRS (b) gET TR

(¢) TRT TIRAZT (d) afer TReTse

frfeiaa & & frae e geae foredr 22
(a) ffer &9 b) e faferr

(c) fiw fbforg (d) fbr =mest

A e Wered, R e & ¥ FEr g

B wd ¥ PrEfRed soE ¥ ¥ B A/

|e B /8
1.98 GHAT & Hol fAard o |
2. 98 600 997 ¥ SBT 9 drel Usel Uiy o |

& T e @ w9 s gt -
azc_.

(@) Baa 1 (b) aeT 2

(c) I 1 1§ 2 (d) T ar 197 & 2

THAe. e wea—2023 & w=f F

fefead woml § & 19 wr/¥ ad & /&

1. YE1E WEANT WS Pl ARG BT rhgery B
SRM Al fhew welcHe smafora fba
T RET 2|

2. ta e e welcaag § vadia Qo &
e s s

T @A ™ g BT UET wxe 9E) SR B

AT DI —

@'_

(@) Baa 1 (b) Haat 2

(c) ST 1 15 2 (@ Far 191 & 2
frfoaa & & fRy SR, 2023 % ~rficivs &
UUTFEA & wU § gAT T 87

(a) SIfR¥eT ere+ (b) frw feufrs

(c) ST fay (d)awrfraﬁg?»ﬁ-rﬁ
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89. Which of the following cities of Uttar Pradesh is 89 SR We¥r & mfoiRaa ol # & @9 <1 ¥=y,
not included as the venue for 11 meetings of 200 VR & SETea] @ SR G-203 200931 § ¥
;:;s:cp);lsg:f G-20 during India’s Presidency of the 11 Y551 & RT e @ w9 § e T8 &7
(a) Agra (b) Varanasi (&) ST (b) IRV

- (¢) Kanpur (d) Greater Noida (€) PR (d) Fex ISt

90. Given below are two statements, one is labelled 90- 1= 21 HoH & RH | Ut @1 AfFHUE (A)
as Assertion (A) and other as Reason (R): 3R T Bl BRI (R) BET AT 2l
Assertion (A) -12 Cheetahs arrived from South B (A) - HRES, 2023 F 12 Al P =R

Africa to India in February, 2023. ST § WRT ST T
Reason (R) - Re'stormg Cheetah- pc.)pulation.is PR (R) - et @ a3 ey
: considered to be a priority for India. J
Select the correct answer using the code given S & |
kel I @A T g | A8 IR BT TIA DY —
Code - @c -
(a) Both (A) and (R) are true and (R) is correct (@) (A) &R (R) TFI ¥ & iR (R), (A) #1 wEl
explanation of (A) RAT BT & ;
(b) Both (A) and (R) are true but (R) is not correct (b) (A)3IR (R) | & fb= (R), (A) DT \ET A=A
explanation of (A) T8 BT B
() (A)is true but (R) is false (c) (A) 9\ & fog (R) Tord =
(d) (A) is false but (R) is true (d) (A) T & fg (R) 9T &

91. With reference to the Deakin University, whichof 9. Sif fazafdenea & W= # F=foRaa Hemi
the following statement/s is/are correct? Y B A1/9 9el g /87
1. It will be the first Foreign University to enter 1. 98 U Y05 IRER & TeIH 9 AR S CEl
g llr!:isa.ns an i:de_e;?enht:e:t casr::::s. FE AT TReT free fwaf 3

. It is being set up in Mahara : :
Select the ?:orrecf answer using the code given 2. 3% WERTS, H weid foam < <&t &
BRloe I & T He B YA HR GE R g —
Code - 6He —
(@) Only 1 (b) Only 2 (a) daa. 1 (b) wae 2
(¢) Both 1 and 2 (d) Neither 1 nor 2 (c) S 1 wd 2 (d) 7 a1 147 & 2

92. Which Indian origin businessman has been 92. WRWH 7ol & fre awR B WSAAD b T
elected as Mayor of London Borough of Eﬂ‘r 1 AR TE IR I W »
Southwark for the second time?

(a) Sam Dalton (b) Sunil Chopra (8) ¥ STee (b) et et
(c) Gautam Adani (d) Neeraj Patil ; (c) e SrSTeiY (d) ~fRet e _

93. On 25t December, 2022, which of the following 93 25 faweR, 2022 @1, fF=falaa & & & <@
countries extended mandatory Military Services ERT 1 5Fas),.2005 S qTE S 5T W & frg
for one year to those males who were born after
01 January, 20057 TS q¥ B W e siferard @R 4 e
(@) Myanmar (b) Taiwan () TR (b) drSa=
(c) Srilanka (d) Afghanistan (c) sfreieT (d) SrHITTRT
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94.

95.

96.

97.

98.

99

100.

101.

102.

Among the following, which country has declared
to remove the British Monarchy from its Central
Bank Currency Notes on 2" February, 2023?

(a) Canada (b) Australia

(c) SriLanka (d) Nepal

On which of the following, proved charges the
Finance Minister Nadhim Zahawi was sacked
from the Government in February, 2023 by the
British P.M. Rishi Sunak?

(a) Disclosure of Secrecy(b) Sex Scandal

of the Cabinet

(c) Tax Scandal (d) None of the above

Which of the following elements is not a Nobl

gas? '

(@) Argon (b) Krypton

() Radon (d) Actinium

Which of the following hormones is secreted by
the Beta cell of Islet of Langerhans of Pancreas?

(b) Insulin

(d) Aldosterone

(a) Glucagan
(c) Adrenalin

Which tybe of -vaccine protect against

Diphtheria?
(@) Toxoid (b) Live-attenuated
() mRNA (d) Viral Vector

Which of the following is mRNA vaccine used
against Covid-19 infection?

(@) Sinovac (b) Moderna

(c) Sputnik (d) Novavax

Which of the following factor is the most
important factor for the lost of biodiversity?

() Genetic assimilation (b) Control of predators

(c) Destruction of (d) Pest control

natural habitat

The Xylem in

transporting -

(a) Water (b) Amino Acid

(c) Oxygen (d) Food

Non-conventional energy sources are those

energy sources, that are -

(a) Non-renewable (b) Renewable

() Produced from (d) Produced from heat
electricity

plants is responsible for

95.

96.

g7

98.

99.

100.

101.

. ¥ 9 g 2w 9
P §F P AU BT Al I Ry o
P S B EYOT PP ‘
( (b) afresferan
(c) sfrciepT (d) SgTet
frfofad # & 59 Rig 99 & amrR w®
BRas), 2023 B1 fafeer yrE #® g N
AU WHR ¥ = W S8 31 ger

o7? :
(a) HAFUSS @Y (b) JArg TvEd
MYIAT HIT B
& PRI
(c) S ThUsd (d) ST # ¥ B 7
frrfeRaa & & &9 @1 99 A9d i 98 &7
(a) It (b) fopest
(c) TEF (d) Tfeefras

f=ifoRaT 3§ 31 ST eME sFERE B ohREy
® 3Mzlc DI dIeT Ao (BIRRN) gRT Enfad

BT 87

(@) TBTTE (b) ggfer

() gIfer (d) TeeRERM
6w uepR &1 St TehRar & g 87
(a) SThvaTgS (b) TTga 3refacs
(¢) THIRTAT, (d) aTsRer dey

f=feriRad # & B9 |1 mRNA i 2, g
SUGNT Bifde-19 HhavT @ faog fhar mar 27

(a) Ryrds (b) HrSzT

(c) ¥gefie (d) ST

fefafea & 9 o9 W oRe Jo—fafdear &

& & fory walfte wexaqel are &7

(a) sfaifis (b) TRt aR R
STTRATENUT

() uipfa® a &1 (d) Pre fFgFo
fammer

di # Siger uRaes @ fow Rieer 8r & —

(a) STer (b) T TRrs

(©) aifedra (d) Ao

102. iR—gRuRe Hoit \g 3 9| & o 5 —
(@) IR—drewofm & (b) vy &
(c) fergamttaa & (d) SwIIfeT &
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103.

104.

105.

106.

107.

108.

109.

110.

Biological Oxygen Demand (BOD) is a standard
criteria for - ;

(a) Pollution assay in aquatic ecosystems
(b) Assaying O level in high.altitude regions
(c) Measuring O; level in blood :

(d) Computing O; level in forest ecosystems

The aquatic plant commonly used as bio fertilizer
in the water-logged rice field is -

(b) Azolla

(d) Trapa

(@) Lemna
(c) Wolfia

Which of the following is known as laughing gas?

(a) Ammonia (b) Nitrous Oxide

(c) Carbon Monoxide (d) Chlorofluro Carbon

Seaweeds are important source of -
(a) lodine (b) Bromine
(¢) Chlorine (d) Argon

Which of the following is an insectivorous plant?
(a) Nyctanthes (b) Nelumbo
(c) Nicotiana (d) Nepenthes

Human heart is made up of how many chambers?
(a) Only four (b) Only one
(¢) Only three (d) Only two

What was India’s rank in the world greenhouse
gases emission in 20227

(a) gth (b) 10t

(€) 11th (d) 12th

A geographical unit that collects, stores and
release water is called -

104.

105.

106.

107.

108.

109.

110.

el ‘m

103.

grardifoTee sifeiom feaie (§ansh) fFas

forT ue wMe AFeS 87

(a) Stefra wiRReiftie @ # ugawr @ witg & fow

(b) Sza GaTe drel & H IS Bl ora B
fom

(c) Ya #H SifeRiee & WX & Srg ® fog

(d) g9 uiRRefas o=f & 3iiRive & W @
U & foru

Selrg g Oy wd wnfag o= B Wd H

WI-SdRe & ©T § YA H o7 SIar §, 98

3
(@) o (b) gire
(c) arfedman (d) grar

frafafad & & 59 &5 U1 H= ael 9 &
wY H ST 6T 87

(a) amIfeT Y (b) ATECH STRIES Bl
(c)gﬁWﬁW@-(d)Waﬂéﬁﬁ
Hgs) Sare fhas Aeayel 9 8¢

(a) IFNSIF B (b) S @B

(c) FT B (d) 3t &
fr=faReg 3 | o9 v diewel der 27

(a) Frafor (b) freat

(c) faifear (d) stifrg

Hg gey fba dvd (gedi) $1 997 aar 87
(a) Baer IR (b) BaeT TH
(c) aa = (d) das &
20227 fagg § M= gew T9f & ST | 9RA
fhe %= o or?
(a) odf (b) 10
(¢) 114 (d) 12 ‘
U WM SHE Wl U BT SHeaT Bl B,
HERU B 2 vd U giedl 8, 99 Ped & —

o

(a) Watershed (b) Waste land (a) STerfareTs (b) =ef yfA
(c) Wet land (d) Water reserve (c) add A (d) gt &1 BN
111. When did the Water (Prevention and Control of 111. 5ot R vd wguwr frizen) sidifFas &1
Poliution) Act was enacted in which of the RrfRaa & & fra af g=ar Tar
following year? s
(a) 1974 (b) 1975 (a) 1974 % (b) 1975 #
(c) 1976 (d) 1977 (c) 1976 % (d) 1977 %
112. Example of Lotic ecosystem is - 12, Pifes uiRRfST o3 @1 SaE=T & —
(a) Swamps (b) Ponds @) :{aa(—"aa (b) TreTd o e
; 5 d) g3
(c) Rivers (d) Marshy area © < (
Y ] , Qﬁzﬂ)
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113.

114.

115.

116.

17

118.

119.

First National Centre for Marine Biodiversity
(NCMB) of India is situated at -

(@) Mumbai
(c) Bhavnagar

(b) Jamnagar

(d) Puducherry

Which among the following is a constituent of
natural silk?

(@) Phosphorus (b) Nitrogen
(¢) Magnesium (d) Potassium
Desert dwelling animals are called -
(@) Arboreal animals  (b) Terrestrial animals
(c) Fossorial animals  (d) Xericoles animals
Match list-l with list-ll and select the correct

answer using code given below —

List -1 “List -l
(Diseases) (Factors)
(A) Peptic ulcers (1) Virus
(B) Dengue (2) Protozoa
(C) Elephant Foot (3) Worm
(D) Malaria (4) Bacteria
Code -

(@) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)
(c) A-(3), B-(4), C-(2), D-(1)
(d) A-(2), B-(3), C-(4), D-(1)

Trophic levels are formed by -

(a) Organisms linked in(b) Plants only
food chain

(c) Animals only (d) Carniverous animals
only

In National Parks, Genetic diversity is maintained

by - '

(@) In-situ conservation (b) Ex-situ conservation

(d) None of the above

Hangul-deer is found in which part of India?

() Gene pool

(b) InFAssam
(d) 1A Jammu and

(@) In Kerala
(€) In Rajasthan
Kashmir

114.

115.

116.

117,

118.

119.

o ‘ m

113.

R BT YIH I X DR T SArS™aRic!
(Tsfigad) Rea & —

(a) Hag # (b) SR H

(c) TR A (d) ggert #
ffoRad # | Tielas WM & U6 g9ch D
87

(a) BT (b) STgETST

(c) H=Nferm (d) areRrm

A # AT FRA a1l TR e § —
(@) geraril SR (b) wRreflT SR

(¢) fdt 97 aTet SR (d) ARfgHE TR

- B gAY G AT qer F R
T §HE B YANT ISP el SR B gAa
BT —
T -1 gl -1l
(comf®) (@)
(A) uftess go7 (1) fagror
(B) ST, (2) SErSHaT
(C) Tret dfd (3) B
(D) weifan (4) ooy
W_

(a) A-(4), B-(2), C-(3), D-(1)

(b) A-(4), B-(1), C-(3), D-(2)

(c) A-(3), B-(4), C-(2), D-(1)

(d) A-(2), B-(3), C-(4), D-(1)

99 TR a9 & —

(@) @rEr si@em | Siai(b) daer Ut |
P Tdg B 9

(c) Dael ST=gail | (d) aet HAERT T3l
3

TS SerHl § Aaifte fafdvar 1 we—<amE

frar Smar & — _

(a) ST, EReToT T (b) Yerg—iie, HReToT g

(c) S gt g1 (d) SUaw # | BIE TRl
Rd & 69 91T # B[S F &7 70T uran S
87

(@) o (b) e\ #

(c) RToTeRIE # (d) 99 3R R H
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120. Which of the following is not a biodegradable

121.

122.

polluter?

(@) Domestic waste (b) Urine

(d) Pesticide

Which one of the following is not true about the
total outlay in the Union Budget 2023-24?

() Interest payment

(¢) Faecal matter

(b) State share of taxes
(20%) and duties (18%)
(c) Defence (8%) (d) Subsidies (9%)
Match list-l with list-ll and select the correct
answer using code given below the lists —
List - |
(Theories of Population)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory
(D) Population-Food Supply Relationship Theory
List - Il
(Propounders of Theories)

(1) Thompson

123.

124.

(2) Malthus

(3) Edwin Kennan

(4) Henry George

Code -

(a) A-(3), B-(4), C-(1), D-(2)

(b) A-(2), B-(3), C-(4), D-(1)

(c) A-(1), B-(2), C-(3), D-(4)

(d) A-(4), B-(3), C-(1), D-(2)

What do we call balancing the need to use

resources and also conserve them for the future?

(b) Sustainable
development

(d) Reducing
consumption

(@) Resource
conservation
(¢) Future resources

Which of the following is not a sustainable

development goal targeted to be achieved by

20307

(@) Gender Equality

(¢) Good health and
well being

(b) Zero Hunger
(d) Space Research

120. fferfae & @ ®19 &1 Ified ygud e

121.

2?
- (a) Trke] sl (b) 7=
(c) 7eT uarRi (d) Prears
ST goIC 2023-24 F FoT Ry F Fr=fRad
q | B G B FE TR ?
() =TSt A (20%) (b) PRI TT edi H I
P AR (18%)

122.

(c) <&t <=Ta (8%) (d) afsast (9%)
G- B A ¥ gafera #Ifvie ik A R
Y HE BT YANT $HRd 8Y Fal IR gAY —
g4t - |
(ST & fRigia)
(A) SugaRT S Rigr
(B) AT STOvTATdGT g
(C) ST wspHYT figia
(D) SHEEIT—@TeE= Mg g
g -l
(Frgidt & uftures)

(1) U

123.

124.

(2) AT

(3) vefam &=+
(4) 2 SifSt
a;c? —

(a) A-(3), B-(4), C-(1), D-(2)

(b) A-(2), B-(3), C-(4), D-(1)

() A-(1), B-(2), C-(3), D-(4)

(d) A-(4), B-(3), C-(1), D-(2)

TN © SYANT q2UT 9 B U 39 Eweor
DI ATIRIHAT DI AT B BT &H FIT el
g?

(a) HHIA HReo]
(c) wfesr & wHam=

Fr=faRaa & | @19 91 gad Qe &1 e T8
2, RO 2030 9% UId & T FeY I@T AT 27

(b) Tea fawr
(d) gaq & HHA HEAT

(a) <iffre w=TTam (b) 3= g
(c) 3renT wWReF;Td  (d) IFRer IR
Wg 63
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125. Given below are two statements, one is labelled  125- i & ®eF & R9H | U &1 e (A)
as Assertion (A) and other as Reason (R) - R R BT FROT (R) BT T & _
Assertion (A) - Population control is necessary to :
maintain the environment of the AFAF (A) - S B FATRT B T @ D
country. o forg S fAET anawe ® |
Reason (R) - Duel to the rapid irncrease in Ei e o 4 A 7% B Pl
population, the environmental ]
balance is maintained. - e 1 Vel & |
Select the correct answer using the code given R RID) He J 98 SR qﬁrq A5
below -
Code - 3 =
(a) Both (A) and (R) are true and (R) is correct o (a) (A) 3R (R) Esl?ﬁ I & @R (R), (A) P G
explanation of (A) 25 AT PHRAT &
(b) Both (A) and (R) are true but (R) is not correct l{g (b) (A) 3R (R) T ¥T & ﬁbﬁ (R), (A) @ &I
explanation of (A) ‘ € e el bR
(c) (A)is true but (R) is false (¢) (A) FF & g (R) Tora &
(d) (A) is false but (R) is true (d) (A) e ® feg (R) 9 &
126. What is the theme of the International Day for  126. 2022-23 & forg T T=e & forw saRisdiy
the Eradication of Poverty for 2022523? M o &1 fawg @7 27
(a) “Acting together to empower children, their &3 (a) “TR T 3 & fog ==, 5@ IRARI
families and communities to end poverty.” gcé 3R WF’W\f DI TR T D 1%1'? Th ™I
(b) “Dignity for all in practice.” - P HAT|”
(c) “Accelerating global actions for a world (b) "qER 7 A ?ﬁ ferg arfar
G : © "R & e g & ARaw AT A G
without poverty. it
(d) “Coming together to end poverty and 8 (d) TR S AT W B B R U
discrimination.” !cf; ST I
127. Role of Human Resources in Economic 127 anfie R 3§ H-a H®M F1 IREH & W
development, which of the following 3 PrefeRa ol 4 & BN W/ ad 2 /¥
statement/s is/are correct?
1. Effects of economic development on 1. 3TRI® A &1 ST gfg ) W |
population growth. 2 HevREn ‘g’ﬁ‘a’ a1 af¥e Rer ® ml
2. Effects of population growth in economic
development. e A T HE B AER W AE IR BT AIA
Select the correct answer using the code given T — 0
below —
Code - e —
(@) only 1 (b) @nly 2 (a) a7 1 (b) Saer 2
(c) Both 1 and 2 (d) Neither1 nor2 (c) 2 1 3k 2 (d) 7 @ 17 & 2
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128. \When was the Census work done for first time in
India?
(@) Inthe year 1850  (b) In the year 1861
(€) Intheyear 1871  (d) In the year 1881

Match list-l with list-ll and select the correct
answer using the code given below the lists —
List - 1
(Sustainable Development Goal)
(A) SDG - 10
(B) SDG - 13
(C) SDG - 14
(D) SDG - 15
List- 1l
(Related With)
(1) Climate Action
(2) Life on Land
(3) Reduced inequalities
(4) Life below water ¢
Code -
(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(2), B-(3), C-(1), D-(4)
(c) A-(3), B-(2), C-(4), D-(1)
d) A-(3), B-(1), C-(4), D-(2)

129.

1065800

809

1065

130. Who authored the book “The Challenge of World
Poverty”? :5-0
(@) Adam Smith (b) Gunnar Myrdal %

(¢) Amartya Sen (d) Jean Dreze
Which one of the following is the main objective

of Janani Suraksha Yojana?

131.

(@) Reduction in maternal mortality rate only
b) Reduction in neo-natal mortality rate only

(
(¢) Reduction in infant mortality rate only oc:
(d)

neo-r@al
[ o

Reduction in maternal and

mortality rate

The “Agenda - 21” of Rio Summit, 1992 is related
to-

132.

o ‘ m

128. YT ¥ SO BT BRI G B fbar T
oqr?
(a) g9 1850 % (b) af 1861
c) 99 1871 # (d) a9 1881 %
-l B G-I F gAfeT P aen gRet @
A R T g W e SR B A9ue B —
-l
(Faa faera o)
(A) THSISH. - 10
(B) THSILS. - 13
(C) TH.STS. -
(D) TH.SISI. - 15
-l
(wafe)
(1) Sieraryg febar
(2) 9 R Sitas
(3) TRl § HH
(4) Tt & T BT g
‘a‘i\a 2
(@) A-(1), B-(2), C-(3), D-(4)
(b) A-(2), B-(3), C-(1), D-(4)
(c) A-(3), B-(2), C-(4), D-(1)
(@ A-(3), B-(1), C-(4), D-(2)

129.

130. "5 3ot 3ife Teg dradt” gﬁzﬁﬁmﬁﬁa@?
(a) TeH fRmer (b) T=R A
(c) s & (d) =i o

131. fferiRae & & @19 |1 S gRem A B
T JE¥F 87

() Pael WY g X H B!

(b) BaeT TISTd g &% § A

(c) Badt g 77 = # HH

(d) A Heg X FAT FIod Fog R H HHI

Rar Rrer |¥e, 1992 &1 "Tois-21" Hafdd
&

132.

(a) Sustainable (b) Polluter — Pays a) {ad fasr | (b) ygwdh — YA
development principle Rrgia &
() Environmental (d) Preservation of (c) vataRer R | d) 3 TRa B
education ozone layer W R |
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133.

about

Consider statements

sustainable development —

(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary
General presents an Annual Sustainable
Development Goal Report.

(2) Global Sustainable ﬁevelopment Report is

the quadrennial

sustainable  development goal

deliberations at the U.N. General Assembly

the following

produced to inform

review

once every quarter.
Select the correct answer using the code given
below —

. Code -

134.

135.

(@) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

With reference to the Human Development

Report, 2021-22, which of the following

statement is/are correct?

(1) India’s rank on the Human Development
Index has upgraded from 130 in 2020 to 132
in 2022.

(2) India’s rank on the Human Deveiopment
Index has stipped from 130 in 2020 to 132 in
2022.

Select the correct answer using the code given

below —

Code -

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

Natural resources should be used by the present

generation in such a way that if there is minimum

degradation of natural resources, then what kind
of development would it be called?

(@) Economic (b) Social Development
Development

(c) Sustainable :
Development

(d) Organic
I_I_J_evelopment

133.

134.

135.

wureig e & wef # Fefaiad dem w®

faar Hiforg — ,

(1) INad oo WET a1 TS AiREDHg
IRl §RT UNga U9 &g SR W
Apford G & IPR W Agd T
qerdfed Uh aiffe wuRena faerd e
a1 oga & © |

(2) dRae Gureiy faem Rad & e 9y -
I werdl H aqgdiiie GuRefd faer
T B AW BT GFREAAST &G URgd B
St | ' :

H Ry v @ &1 YA dRS HEl SIR B

TG BTG —

T —

(@) Baa 1 (b) Badt 2

(c) g 174 2 (d) = ar 197 & 2
Hqrq faera RAlE, 2021-22 & HeH #, F=faRaa
§ QP FUT G B/ E?

(1) A9 faw qEwie § TR B A0 2020 §
130 ¥ S=Idl B1hY 2022 132 8 7E §|

(2) Aria faeTd Gadie 9 wRa I A0 2020 H
1309 2022 % 132 7@ iR 73 2|

I U G BT SUANT HID el Sok BT aq

BIIT —

-ﬁc\a_

(@) dae 1 (b) Paat 2

(¢) S 179 2 (dsFar1=ma2

UdHiad WEEFI @ 9d9H diel gRT1 39 TR 4
SUANT fhar Sy &5 qipfad WmEED &1 <A
&7 B, 1 I8 fow geR &1 R dearm?
(a) s fa@r (b) wrIfoTe faera

() wea fasra (d) Sifde faemra
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136. With reference to ‘PM Gati Shakti Scheme’,

137.

138.

139.

which of the following statement/s is/are

correct? A

(1) The PM Gati Shakti Scheme-National Plan was

launched in 2022.

(2)' The PM Gati Shakti Scheme pertains to seven
engines (Roads, Railways, Airports, Ports,
Mass Transport, Waterways, Logistics
Infrastructure). NIP will be aligned with PM
Gati Shakti Framework.

Select the correct answer from the code given

below —

Code -

(@) Only 1

(c) Both 1 and 2

Which of the following is not an economic

(b) Only 2
(d) Neither 1 nor 2

activity?

(@) Farming (b) Service

(¢) Voluntary Social (d) Transportation
Service

With reference to the scheme wise allocation in

the 2023-24 Union Budget, which of the

following statement/s is/are correct?

(1)

Compared to the previous year, highest

percentage of decline has been recorded in

the allocation for MGNREGA.

(2) Compared to the previous year, highest
percentage of growth has been recorded in
the allocation for Jal Jeevan Mission.

Select the correct answer using the code given

below —

Code -

@ only1 (b) Only 2

(c) Both1and 2 (d) Neither 1 nor 2

By which year the target of population stability

has been fixed in India?

(@) Year 2045

() Year 2075

(b) Year 2070
(d) Year 2080

137.

- ’ m

136.

oA, Tirefdd aET @ Wed ¥, frefaRad

A DT/ B GE 8 /87

(1) droH. Trfcrerfda—rsiia From o1 R 2022
¥ foar o) '

(2) WSS JEEREAT UIRY AR (THSMEd) #
HAGETEIS) & Wt gRasrel dlom. ufy
wfdd gid & A SIS o9 |

Frfefed fe & wél swR g+ —

Te —

(@) dad 1 (b) Haet 2

(c) ST 18R 2 (d) 7 a1 1471 & 2

fefeiaa & & @9 < snfdfes fpar =& 27

(a) frar (@) (b) St

(o) wies e 9a1  (d) uRass

138.

139.

I goic 2023-24 H ASTRI & FFAR 3Mde

& w=d W e Tt § 9 BN W/ b

el 8 /87 '

(1) froe af @ g ¥ TR ¥ omdes d
it afcera werdl aof @1 T 2|

(2) fUwel ¥ @ gam W S ofigT fee 2q
ardeq # |aite ufoea gfg <ot @ wh
| 38

e ¥ ™ g 1 T RS 98 SR Bl

T BTG —

a—,c\_(:_
(a) Bad 1 (b) Bad 2
(c) M 13k 2 (dFar1ars 2.

ARG H ST i &1 oed fhg 9d da
feiRa far &2
(a)zré2045ﬁ‘g’s"
(c) 9% 2075 P

(b) a9 2070 TP
(d) a9 2080 &
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140.

141.

142.

Which statement is true for Finance Sector (Fiscal
Management) in the Union Budget-2023?
(a) Twenty years interest free loans to states.

(b) Fiscal Deficit of 3.5% of GSDP allowed for

states.

(c) Fiscal Deficit 2025-26, the target is to be
below 5.5%.

(d) Budget estimates 2023-24
expenditure is T 55 lakh Cr.

for total

According to Economic Survey 2023 about

services, which statement among the following is

not correct? '

(a) Credit growth to services is above 16% since
July, 2022.

(b) 75 digital banking units announced for
transforming financial services.

(c) Fashion, grocery and general merchandise -

will be captured nearly two-third of the Indian
e-commerce market by 2030.

(d) pP.M.I. services witnessed strongest expansion
since July, 2022.

Which of the following is/are the type/s of

poverty?

140.

141.

142.

Sy gwe—2023 # fxfw &3 # RNy

yaw) @ fog B9 W1 aed |el €7

(a) <o BT 49 99 B forg o g |

(b) STTa A, BT 3.5% SHNT °IE DI IS
ﬂ'ff?ﬂTT%I
202526$%’Q"\’]ﬁ'&ﬁﬁqm€?ﬁ55%‘@{7ﬂ€l
G BT A& |

(d) 2023-24 % quTe AT H Pl A 55 AT
FRIS O 2 |

Jqrait @ IR ¥ e Fderor 2023 #H, Fr=feRan

oAt ¥ F B 9T HAT el A8l 87

(a) S[elT$ 2022 ¥ HFST YRS A1 16% | SR
gl

b) 75 fefea dfp swsal @ wmon fa<i
Jqratt BT geo @ fIg @ T B |

(c) ByF, UG AR TR AHSSH 2030 TH
TRA - IOR @ o & faer
ey # <uAT wIF & |

d) GruA.aE, Jaret ¥ 2022 el W GaW AG
fareR <= T |

=R § @ @Far/S Fuear $1/3 JaR
2/ 8

(1) Absolute poverty (1) T’f (<) Ref=ar
(2) Relative poverty (2) e Ssradr
(3) SubJEFtIVEE poverty (3) af AT
(4) Functional poverty _
Choose the correct answer using the code given (4) g e
belote 9= Ry 7Y He | |qE SR B AT -
(a) Only 1 and 2 (b) Only 1,2 and 3 a) Had 1 3R 2 (b) ®act 1, 2 U9 3
(¢) Only 3 and 4 (d) Onlyland4 . (c) ®aci 3 U4 4 (d) ®aeT 1 U9 4
143. Which of the following (Scheme — Year) is not 143 fw=iferRad ¥ 9 BF e (@ - a¥) ae
correctly matched? - gAfera e 87
(a) Deen Dayal Upadhyay Gramin Kaushalya (@) A TaTeT SURIR UTHIOT DIYedT ATl —
Yojana - 2014 S |
(b) Rural Housing Interest Subsidy Scheme - 2017
(c) Shyama Prasad Mukherjl Rurban Mission - Pt gﬁﬁ Hﬁ\q@ T — 2017
2015 : (c) T YIS TSl Wi“vr fer — 2015
(d) Sansad Adarsh Gram Yojana - 2014 (d) e arest I BT — 2014
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144,

145.

146.

147.

148.

149.

150.

Which of the following scheme/s is/are related to
Uttar Pradesh?

(1) Anuthee Uphar Scheme

(2) Matra Shakti Udyamita Scheme

(3) Kaushalya Matritva Scheme

(4) Stree Nidhi Scheme

Select the correct answer using the code given

below -

Code -

(a) Only 1 (b) Only 2

(c) Both 2and 3 (d) 2,3and 4

Which of the following Scheme/Programme is

not the Central Government Programme and it is

Uttar Pradesh Government’s Programme?

(@) MGNREGA (b) Gramin Swasthya
Mission

() Ganga Expressway (d) Pt. Nehru Utkarsh
Mission

Who has written the book “From Dependence to

Self Reliance”?

(a) Y. Venugopal Reddy (b) C. Rangrajan

(c) Raghuram Rajan  (d) Bimal Jalan

Which of the following is known as “World

Wetlands Day”?

(@) 10 January

() 1 February

(b) 15 January
(d) 2 February

World Social Protection Report is published by - :

(b) World Health
Organization

(c) |nternatlonal Labour (d) World Economics
Organization Forum

In which year, “Mid-day Meal Scheme” was

renamed as “P.M. Poshan Scheme”?

(@) World Bank

(a) 2018 (b) 2019
(c) 2020 (d) 2021
Which of the following (Union Budget
Departments 2023-24 - Allocation amount

approx. X ) is correctly matched?

(@) Ministry of Health =X 89,155 Crore

(b) Dept. of Health and Family Welfare —¥ 80,000
Crore

(¢) Dept. of Health Research —¥ 9,155 Crore

(d) Pradhan Mantri Jan Arogya Yojana — ¥ 5,000
Crore

144,

145.

146.

147.

148.

149.

150.

- ‘ m

ﬁwﬁf@aﬁﬁﬁﬁqﬂmﬁ/ﬁwmﬁ
Heferd 8 /57

(1) 3FST SUBR AT

(2) ArgfdT S=ffar Jrer=n

(3) PRI A IS

(4) & e greET

9 T T A ¥ e W gy —

R_

(B)Eﬁ?ﬁl b) dad 2
¢) S 2 3R 3 d) 2 3 3R 4

ﬁﬁfﬁv}f@aﬁﬁaﬁﬂww&wzﬁﬁ%w
Wmﬂﬁ%aﬁ?uﬁwmmaﬁ
ST 87

(@) H=RATT b) IToT Wy e
(c) T TEEuH (d) 9f$T & Iy
| AT

;m%ﬁévamﬁam W?ﬁé@fﬁ

(a)erré.érg?ﬁma*@ b)?-ﬁ.mw
€) YERT I d) fewer ST
ﬁwﬁﬁaﬁﬂw ﬁwﬁaﬁrﬂsﬂﬁw B WY
H SHET ST 27
(a) 10 ST (b) 15 FaN
(€) 1 B (d) 2 B
faeg amIfTe wReror RUid ya e &) Sl & —
(a) fawg & grr b) faeg Wy ST
BT
(c) RIS 8TH (d) faeg anfefe w9 gwT
ST gRT
B Bl 15 e o G R e e T B T o
e af gemifAa favar T
(a) 2018 # (b) 2019 #
(c) 2020 # (d) 2021 #

freffad § @ o9 UF (S aoie AW

§02324 3w arrdfed Jifer X ) wal gaferd
=]

(a) WY HATAT — 89,155 TS 3T

(b) Wy Ud URAR HT HATHY — 80,000
PRSI

(c) e wien fd|mT — 9,155 BRrs

(d) =AY ST TR Il — 5,000 RIS T

6}
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